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Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficultiesin ____ ./ Taddr (Gﬁﬁ'%ﬂi) =i | |
HiSAE 1t B

1. Vision / T8

2. Intelligence / g@'

3. Social interaction / ATATISIh HUh
4. Body movement / R Irfaeiferdr

Correct Answer :-

« Social interaction / GTATIoTd TUh

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

VY agR fazawr A & fore uer siftres gyurdt SueRTerss fafr wr=n i 2:
1. Dyslexia/ f3Eafaar

2.GDD / SRy

3. ADHD / TSITasy

4. ASD/ TTHS!

Correct Answer :-

« ASD/ TUTS!

3) Which of the following is not true about the team teaching method? / &9 e ugfa IR A

PafifRTd ¥ e g T8 22

1. Difficulties are faced in maintaining harmony among team members / T & Jell & dig gy ERIY RLGE
7 HieATsal &1 I A1 USd 8l

2. It is cheaper than other methods of teaching in terms of finances / g fag & Teu o Rreror & o= fafda ot
I | T ]



3. Teachers get better opportunities for optimal utilization of human resources / ATd JaTYT & garad ST
¥ fore e o JgR ¥R Hed |

4. It is a highly flexible method of teaching in terms of scheduling / & G3I-TAYRUT & TEaT &
fI8TUT T Teh 37T Tl alIehT &1

Correct Answer :-

It is cheaper than other methods of teaching in terms of finances / dg fog & deyf | fRreur & 3 fafda
&I ga H I g

4) Which of the following elements is there in problem-solving skills?/ fufsfea s s an
HET- AR SIRra & Wi 82

1. only the steps to reach the goal / $ad dd dH ITIEV?J%[ & TR
2. only the goal / Had a&d
3. only the problem / el FFHEIT

4. all of the above/ 3UJh THT

Correct Answer :-
o all of the above/ 3URIh T

5) A child thinks that because he wants to have pizza for dinner, his parents must want it too. What
type of thinking is this? / T T=IT 9iadl @ f& 9fer 98 Ia & @M & fore e arear 8, @ Su&
Arar-far &) off ot wife) g 59 yor 9t 9 72

1. Meta-cognitive thinking / <ITHAIcHAD (AT-HeTdlcAD) Rda
2. Egocentric thinking / Fadbfed (somafegs) Riaa
3. Abstract thinking / 3@#d Ria=

4. Psychotic thinking / ARG (FgHifed) Rida

Correct Answer :-
« Egocentric thinking / Tabfed (FmMafees) Raa

6) Learners learn best when / FRrandf ged =t avg WEd & oia

1. they listen to the teacher and obey all classroom rules. / & 18T &hr ard '{FFT % 3R wem & Tl
faTat @ aree R R
2. they understand the lesson and write good notes. /' fauT &I FHASTA § IR 3= Acy forwd B



3. they understand the relevance and are motivated to achieve the learning goal. / T YR dT Pl TqHSTA ®
3R AR F F&F B uF A F forw IR B B

4. they follow all rules and are quiet in class. / 3 gt Al &1 ua Hd % 3R e H i |d %I

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / & UTHTIRAT B FHSAT &
AR 1A & o&F B 9@ A b faw aRT @ €

7) The seat of Intelligence in human brain is . [ °HId aferss & §'@ Cal aﬁ %I

1. Brainstem / SiTEcH

2. Cerebellum / 3-1?:1?1'%'&5 (B ooTd)
3. Cerebrum / GHTEISH (QISTH)

4. Spinal cord / #¥GUS (TABAS BIS)

Correct Answer :-

. Cerebrum / JHATETSH (TETH)

8) Which of the following is the best way to increase correct responses and appropriate
behavior? /

& gfafransit 3t 3T syaer & Te & v Arfef@a & & sila-a1 ge@ 3o ale &2
1. Punishment / &8

2. Praise / UMM

3. Ignorance / 31T

4, Strictness / T&Edl

Correct Answer :-

e Praise / uQ/r

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of
exceptional children? /

HTYROT dTd] &1 FdegR ot FAEBT & Aee 3R 3R & Qv s3madk W &g
fafer &1 39l fFar smar &2



1. Survey method / TdgToT fafer

2. Case study method / g Tes A

3. Observation method / fAdreTor fafer

4, Experimental method / UAcHb Tafdr

Correct Answer :-

« Case study method / g Tes O

10) Which approach believes in teaching reading based on sounds? / eafoal & IMUR W
USA-qTesT # @i A1 Tieewor fFeard Far &2

1. Analytical / Ta&uuTcH®
2. Syllabic/ <regier
3. Global / Teitger
4. Phonic / ®Ifds

Correct Answer :-

« Phonic / ®Ifa®

11) According to Thompson, children can identify their own gender by the age of/ qIFqa & AR,
T WS TG & AT i g 39 3 F F AHh &

1. Five years / U/d ¥
2. Two years / G ay
3. Four years / I ay

4. Three years / dil a§

Correct Answer :-

« Three years / dil a§

12) What is the term used to describe a person’s tendency to remember positive rather than negative
experiences?/

THRICAF IHSAl F T FHRIAF G @A & fAv e sxfFa 6 ygfa #1 avfa w1 g
9g FT 39T AT STar 82

1. Rehearsal effect / Qareard gHTE



2. Retroactive effect / gdeardy gama
3. Lightbulb effect / oliscded UHTT
4., Pollyanna effect / GrelleddT JHTT

Correct Answer :-

* Pollyanna effect / Olelledl THTT

13) What is the full form of MBIT?/ THEI3TSE T qoF & 4T 82
1. Myers-Briggs test instructions / ArgA-foog o A

2. Myers-Briggs type of indicator / FTIY -9 ThR Hehclh

3. Myers-Bricks type of indicator / ATIA-TeFd YR Hhcdh

4. Myers-Bricks test instructions / Ay- oo gdiem Ay

Correct Answer :-

» Myers-Briggs type of indicator / AY-f998 PR Hhdd

14) What type of memory is sometimes referred to as nondeclarative memory? /

5w R & Ffa F Ff-FaR srevoneRs wfa F w9 A SET S g2
1. Autobiographical memory / HcHaaRd (3ictaranfthae) Fafa

2. Factual memory / J2ITcHS FHIA

3. Short term memory /eTg-ehlellel TR

4. Procedural memory / UfhdTcA® FHIA

Correct Answer :-

« Procedural memory / UfshdTcas EHfd

15) An assessment that is carried out throughout the course is called .

qE Ihell S I IRAHA H AR BT AT}, FEram gl

1. Formative assessment / IdATHSD H[h
2. Summative assessment / JNMcHD Hedihel
3. Diagnostic assessment / Acifdes Hedihe

4. Initial assessment / URTRP 3Theld



Correct Answer :-

o Formative assessment / XIATHD HTh A

16) Which of the following is not a form of bullying? / P#afaf@a # & Fla a1 sgamft &1 v w7

el §?

1. Teasing other children / 3= gt ol E‘EHI

2. Pushing other children / 31 gdl Pl Gahl Sl
3. Mutual exchange of lunches / o/ & UREIRE GaT-agell
4. Insulting other children / qa% Il T YA AT

Correct Answer :-

+ Mutual exchange of lunches / @ $I TREURE GalT-acelr

17) Which of the following clinical procedures are based in part on classical conditioning?/
ffaf@a & ¥ sla @ dafs afkan Fafsa FEafar ® smfia

1. Token economy / Eldhel ShIATHT

2. Two chair techniques / ¢ YIT Adheirchl

3. Transference/ TATATAXOT

4. Systematic desensitization / gafeud ﬁgmﬁm

Correct Answer :-

« Systematic desensitization / STATEAT iaﬂ?ﬂlﬁlaﬁiul

18) Which chromosome is responsible for determining that the child is born male? /

FeT W IE IE uiRa Fe & v seert gdar ¥ B aear A dar gam ¥2
1. Y chromosome / Y J[0THA
2. C chromosome / C J[UT{H
3. L chromosome / L J[0T{YH

4. X chromosome / X J[0THA

Correct Answer :-

* Y chromosome / Y J[UT{A



19) If a child has no problems with any schoolwork other than reading and writing, what could he be
diagnosed with? / If¢ P =2 A weat 3R rExr & sromar Pl 3o Tar w1 & FIS wHET
gt g, aF 39 Fuw AwRa fFar S awar 2

1. Learning disorder / 31fQ9rH faR
2. Communication disorder / IR PR
3. Mental retardation / HATATHD FHAT

4. Intellectual disability / difgeh 38T

Correct Answer :-

o Learning disorder / 3ifl9rd faaR

20) A child searches for an object where they previously found it even after they know it moved to
another location. This approach is seen because of limitations relating to ./ TF STar T Ot

T 1 TS FAT §, 61 T T6A 39 G W W S o & a16 o ard §1 Ig wfewior
¥ wefta Hamst & FRoT @ S g

1. Attachment/ 3{eJelaeieh (31¢THT)
2. Egocentrism/ Ty ($3I|ﬁic—§czﬂ)
3. Conservation/ TI&TOT

4. Object permanence / I&J TR

Correct Answer :-
 Object permanence / ¥ €I Ricd

21) Who developed a Psychosexual theory of human development from infancy onward? / derargedr @
AT RFE F1 tF AadRe Rqua Faa el

1. Erik Erikson / TR& sqamaa
2. Piaget / TOTS!

3. Sigmund Freud / fA9THAA W13
4. Vygotsky / aiSaNcachr
Correct Answer :-

« Sigmund Freud / 91 Wwras



22) The concept of intelligence is more related to: / 'sﬁajilﬂ? IHTUROT 3HY I0F FaOT &
1. Concrete thinking / JUTIqoT e

2. Intuitive thinking / ¥ga Rida

3. Rational thinking / JhaId id=

4. Emotional thinking / HTdaTcH® Ride

Correct Answer :-

« Rational thinking / d&&aTd ida

23) Rorchach ink blot test consists of / V2ATH FATEY &T ereaT GNETOT AT & FaT T &
1. 10 black cards and 5 coloured cards10 / @Tel T 3R 5 T o

2. 10 black and 10 white cards / 10 @Tel 3R 10 The T

3. 5 black and white cards and 5 coloured cards/ 5 @Tel 3R Thg T 3R 5 TN oot

4, 10 multicoloured cards 10/ E|§I'3i| U

Correct Answer :-

o 5 black and white cards and 5 coloured cards/ 5 &Tel 3 The g 3R 5 T T

24) When failures are punished during childhood, it leads to ./ 99 AEHAAIA F ATTaIaTF
gk ERa T ST @, St 9w # A AT

1. Negative reinforcement / ThRTcHD l:J,decl ol
2. Encouragement / SicaTgel
3. Persistence / T

4. Learned helplessness / 319131 faasrar

Correct Answer :-
« Learned helplessness / 31T9TeT faasrar

25) Maturity affects learning because it impacts -/ IRUFaar 3 &1 gsnfaa st & % I
favsr 9T wea ST &

1. Motor skills/ Ok apierer

2. Readiness/ dcddr



3. Cognitive capabilities/ TATATCHD &THATIT

4. Both motor and cognitive skills/ @il e 3R T<ATATcHD DIRTA

Correct Answer :-

o Readiness/ dcadrl

26) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.

Attention, retention and reproduction are 3 of these conditions.

Which is the 4™ condition? /

wrEAToE Hfte Ry & IR, yardt AsfaT & v 4 smaeas od &
T, TR 3R g F 3 ok §

atelt ot FT 77

1. Situation / fRfd

2. Attraction / 3TTehVOT

3. Imagination / Ul

4, Motivation / OO

Correct Answer :-
« Motivation / YO

27) Creating positive classroom culture falls under the domain of : / mam%iﬁgﬁraﬂ
A e A F raeta 3mar &

1. Social need / ATHAT ST TATh T

2. Affective need / ATdTcHD ITdADh ]
3. Psychomotor need JAATOIOT T ITIThdT

4, Cognitive need JAATCHD TIThdT

Correct Answer :-

» Affective need / ATATcHD HATIRIh ]

28) Which of the following can be described as a positive reasoning style for failure in achieving success? /

fAmafaf@a & & 91 awdaar yvd W F FFFAAT & AT tF TERICAF dF FTHT & T H



aftia #T a&ar §?
1. Environment problem / dTdTaRoNT THEAT
2. Medical and Psychological Reasons / fafehcar IR FAadfae dRT

3. Difficulty in writing / o/@e & HHATAT

4. Lack of Motivation and Interest to put efforts / THTd arola & forw oxom 3t s o1 3rema

Correct Answer :-
o Lack of Motivation and Interest to put efforts / THTd arola & forw ovom 3tk s o1 3rema

29) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of
parenting is known as:/

Fo A-Rar At # sarea adt T § Afda a= F Gl ot Fra | A gew w9 F [
AT F 81 50 IHR At R A & w0 F e smar @

1. Permissive Parenting / 3-]@3‘65 W

2. Uninvolved Parenting / 3T A Tord RfEaT
3. Authoritative Parenting / 3T e
4. Authoritarian Parenting/ TaTarer Ufear

Correct Answer :-

« Authoritarian Parenting/ TdTaTey e

30) Studies in human development take into consideration the period from: / HIFHd faera A
Y 3 3MafY P = A 1@ 8

1. Conception to adolescence / TATYTT T FRRTaEdr
2. Birth to adolescence / STed & fehiRTaeT
3. Birth to death / e & #HIOT

4. Conception to death / LT & qcg

Correct Answer :-

« Conception to death / ITHTUTT & qY

Topic:- General Hindi (L1GH)

1) %eft @at # q¥ ao+



AEA 1 FAT FRIAT,

foradt o oy #r Rl

aidy A €@t Il ST !
el FR W aT W

foeer eRa 3T & w1 o,

AT ] T W FH gam

77 w1 faR fadte fa v
YeifRra-d ererdlt agyr

Il St A #F ae,

INET Wo1s @ WA H;r

frfrforar § aemeneizsdr e dara o=,
at, R & A FF W

Ao v s, el el

r 1 & ot # Refaw

g9 @ wfewr #wex @
Ag#e feat ®@ et
difFgl, Bure die @

freelt & Sor G A el

@ @1 & Fal W Poed,

T R & o T

33 33 gal ¥ gal W

T 1T gz Fr 9EF AT qF I q GeT FT 3ca] qAqBTI
W §4T & Fid & Fq T TH ST @ qud sl A gor § A Fr oqeran §2
1. %el & dieT A g o I &

2. IdC @ &

3.9 9 fw Sl

4.9 7 gt & g A FAT T

Correct Answer :-

AT G @ A @



2) %ot @at F g qow
AGAA HT FAT FRATEN,
foradt o oy #r Rt
aidr @1 H el S |
R FRRaTA R

feer eRa s & w1 o,
AW T W FH g3
a3 &1 iR e e waw)
Awifaa-dt werch ayyr

Il St A #F ae,

INET F$ &1 WA H;r
fRfrforat & eftamemel

33t el derera e,

o, eha «r & s @
dterer &1 wfar, it el
r &1 ¥ et A Refae

&9 T W A @)
A@wAe afewt #@ wedht
T, B @i a9
freelt & $or G i faeht

@ &1 & Fal W Foed,

T A & o T

3% 33 gal & gdl W

T 1T g Fr gEF AT qF T q GT FT 3ca] qAqBTI
yee: @l # gy dod FAT Hell §§ §7
1. T g& MY

2. ¥R §T 13

3. AT hr AGHN T
4, fadferat & &3

Correct Answer :-



AW ] T W FH FIT
a7 w1 A e e waw)
VeAifRra-dt eerclt agen
Il St A #F ael,

INEX TAS HT |F
fhfrforat § eftamemel
33t o derera =,

oY, gRa o & Fiw W
Arem 1w, i s
r G & pat & Refaa
&9 W W 7 @ |
g 9t | deh
BifFar, Bare @i @
freelt & $or $or A el
@& F ol W Foe,
EERLEGRIR TR E

3% 3% gal ¥ gal W

T a1 gz F qgER AT qF I a T FT 3ca] qAqBTI
yeeT: Wigel-H et W i 39 9o Romar velia @t #72
1. 3¢ & arferan

2. pgIAT FLAr

3. Upfeerd fpare



4. fAFTer A TR

Correct Answer :-

. 3t e 3meprer

ATHS ] T W FH FIT

¥ &1 R Ade e waw)
VeAifRra-dt eerclt agen

i St A # arel,

3T | N AT

fhfrforaT § etsmemeh

35 sl demed T,

o, eRT a1 § #iw @

e i Hfar, i el

r &1 F gt # Rafder

&0 W wf@ar #ex @
AgHe gfedt €@ aedhi
Bifaar, Bare dis @

el & Tor Gr dr faaeh

@ 1 & Fal W Poe,

%o 5 8 o Fa

3% 33 gadl ¥ gal W

T 1T ggier Fr ggH AR @ I TS WA FT 3ca} IAB0I
weT: TOI-fadelt afear frer @it W ossd R #2
1. WI-31 & Feil T



2.91g & Wal #
3. 53@ & War &
4, AT & Uit WX

Correct Answer :-
o WI-3T & el W

QAW 8 e T FHI EI;
T &1 R st Aia waw)
Aeifra-dt werch ayur

I St A # arel,

3RET TAS A AT N
ROt § elvememah

3t shelt demera aey,

t, R o @ FF W

drear &t &, i A

r G & pat & RefAa

&9 @ Wi A @H
AgHAe gfedt €@ aedhi
BifFar, Bare @i @

Rt & Tor Gr dr faeel

@ @1 & Fal W Foey,

o R & g Fad

33 33 gdi ¥ gal W

T a1 gz F qgER AT qF I q G FT 3ca] qAqBTI



TeeT: A & ol fFEh e 9 Do W EF w &2
1398 ¥ PIg e

2. - Gd T /e

3. ATIATT I HR 6T e

4. 30 ofEal FEae & ofeadt & fi Bor W= 9 W& E

Correct Answer :-

. S0 afEar AEHd $r ufedt # fio Bor W &9 & E
6) thelt @al & qx doF
AEAA T FAT gRATN,
foradt o W #r Rl
aidy A H 3ol Sl |
fsi F RV aT W
feer aRa R § @1 Fow,
AW ] T W FH FIT
a7 1 R e e waw)
VeifRra-dt eerclt agen
Il St A #F ael,

INEX TAS HT |F
fRfnforar & evememah
33t o derera =,
o, gRa a4 § Fiw @
Arem 1 s, i s
r G & pat & Refaa
&0 W wfar #ex @
AEAe gt | deh
BifFar, Bare @i @
freelt & $or $or A el
@& F ol W Foe,
EERLEGRIR TR e



3% 33 gal ¥ gal W
T 1T g Fr gEF AT qF I q G FT 3ca] AR
vl Oed & @ @ a9 W FA1 Fed T@T 87

1. & gfear

2. %W Gl
3. Ra TR
4. fesdr ga

Correct Answer :-

. eRa TR

AT 8 T W FH g3
a0 1 A e e waw)
Aaifaa-w aereh agur
I St AF F e,
INEX FA§ HT |F A
fRfhforar § eivsmemeh
35t #fielt demEa T,
o, R o A FE W
Ao it s, et e
r &1 & ot # Refaw
g9 @ wfear #wex @R
Agwe feat ®@ et
difFEl, Bure die @
freelt & o G A Tl



@ @1 & Fal W Foey,

o O & g Fad

3% 3% gal ¥ gal W

T a7 gz Fr qgER AT qF I q T FT 3ca] qAqBTI
gesT: WA & Uz #¥ 31l T 3 @ A fFa et F 9 v §2
1.J3-T) At 9

2. A-Ag siferdl &

3. 60X & I |

4, AT |

Correct Answer :-
. Tt &

AT T W FH g3
a3 &1 iR e e waw)
Awifaa-dt werch gy
Il St A F ae,

INET Fa$ & WA
fRfforar & eivamemeh
33t el derera e,

o, R o F FF W
dterer &1 wfer, it el
r 1 § et A Refae
9 T WA A @
A@#Ae afewt © st



afai, Rure fis @3

feech & Gor or & faaeh

@1 & Fal W Poe,

o 5 & g w@d

3% 33 gdi ¥ gal W

T T ggier Fr ggH AR @ I aTS WA FT 3ca} IdAB0I
W HA F R A gug A W FAT IFE FA 2

1. FAGHhT Ied

o Y-S

QAW § e T FHI g
a3 &1 R e Aia waw)
VerifRra-dt el agem
Il St A F ae,

3RET TAS A AT N
ROt § evemema
3t shelr demera o=y,

o, e w1 F FiE W@
s Fr wfar, dRdr e
& &1 ¥ gat A Refae



€@ T |fgan #eX @

A@Hen gfeat @ et

aifar, Bue @i @3

feech § Gor Gor &y foaen

@ @1 & Fal W Foed,

ol B & g T

3% 33 gdi ¥ gal W

T 1T gz Fr gEF AT qF I a WT FT 3ca] qAqBTI
e 30 &faal A P Atgw F dled Fr avia 2

1. R FJ
2. 98d ®J
3. ¥Ad &
4. qreHA HJ

Correct Answer :-

10) el @t # ¥ aw
AEAT A AT gRAT,
foradt red R & Rt
aidy A € ol Sl |
M FRRaTT R
fewr eRa sftR & w1 e,
QATHT 8 qT U FH gam
a7 1 R e e waw)
VeifRra-dt eerclt agen
ae St A oF e,
3TET |AS T WA Y
fRfhforar & evememah
33t o derea a1,
o, gRa a4 § Fiw @



sfresr it wfa, ol sl

& 1 F gt # Rafde

€9 T wigan A @

Fgwel afeat #@ et

aifaar, Bae @is a3

feech & Gor Gor &y faaeh

@@ &F Fal W Foed,

T 5 8 g T

3% 33 gdl & gal «

T T g Fr gEF AT qF IS q G FT 3ca] qAqBTI
weoT: il F A g P qoww F aha B /e ow w 2

1. A H

2. Q&R
3. Ueell

4, A

Correct Answer :-

11) et @t # g ao+
AEAA HT FAT gRATEN,
foadt s o & fnor
aiéy A € el ST !
i F /T R
foeer eRa 3T & @1 o,
WAHT o q W FH g3
a0 1 A e e waw)
Aeifaa-w aereh agur
I St AF F e,

NG Wos @ WA H;r
fhfrforar § asmeme
35t #fielt e T,



o, e o1 F FiF W@

drear &t e, i A

r G & ot & Refaa

&9 @ Wi A @H)
AEAe afeat d wedt
ifF=l, Bure dis @@

el & Tor Gr dr faeel

@ @1 & Fal W Foey,

T e & g Fad

33 33 gdi @ gal WI

T a7 gz F qgER AT qF I q T FT 3ca] qAqBTI
YT THA H N AGHAT A F Adare® @ aE §?
1. Har

2. g

3. feesd

4. BT

Correct Answer :-

12) %ot Fat # g qow
AGAA HT FAT FRATEN,
foadl s I & fnor
Trdr $r Hr orelr ATl |
MR FRRaTT R
feer eRa s & w1 Fo,
RUHT & a W FH g3
a3 &1 AR e e waw)
Awifaa-dt werch gy
Il St A F ae,

INET Fa$ & WA



fRfrforaT § efsmamet)

35 sl demed T,

o, gRa o @ #iw W@

Ao fr wfa, it e

r G & pat # Rafaa

&9 W W 7 @ |

AgAe 9t | ded

Sifaar, Bure dis a2

feeelt § Gar T dr faaeh

@@ &F Fal W Foed,

o R 8 o T

3% 33 gal ¥ gal W

T 7T ggier Fr ggHE AR @ I aTS WA FT 3ca” IAB0I
weoT: fFrad aifaat am 9@ & exelt gt & T awr @ 32
1.5 § PS5 AR

2.0 AR WS A

3. 91 3R AFb H

4.5 3R A A

Correct Answer :-

13) et @at # gy a@+w
AEAT T PAT gRATe,
et s R & Rt
Tidy @1 H el S |
i FR R aTT W
feer eRa R § w1 Fro,
QAT ] T W FH FIT
a3 &1 AR e A waw)
eifera-d oerch agur



Il St A #F e,

INET o1s @1 WA H;r
fRRRforaT & esmeme
33t ofielt demaa e,
a, e T § Fiw W@
e &1 wfar, i e
& 1 & ot A Refaw
£ @ §f @A 7 @9
AEwel feat ®@ et
T, B @is w2
et & $or G i el
@ @1 & Fal W Foed,
T A & o T

3% 33 gal ¥ gal W

T 1T gz Fr gEF AT qF T a TeT FT 3ca] qAqBTI
weeT: frasd e o roelt defrr gore T @ ¥
1.8 &

2.91¢ &

3. 93dt &

4.3 &

Correct Answer :-

. T F

14) %ol @t F g daF
AEAA T FAT gRATN,
foradt s I & for
aidy A H ol S |
Rt F R N da@ W
feer eRa 3R & w1 Fo,

WA § T T FH g3



a3 &1 AR e A waw)
Awifra-dt wercl ayyr
Il St A F ae,

INE FAE A1 AN A
fRfrforat & eftsmemel
33t el derrera e,

o, eRa «r & wiF @
dterer &1 wfar, i el
a1 &1 & wat # Rafaw
£ T W A @)
AEAe 9feat H deh
fAgl, Buw @i @@
feeet § Gr Gor @ faaeh
@ @1 & Fal W Foed,

T R & o T

3% 33 gal & gal W

T 1T eI Fr gEF AT qF IS qS TT FT 3ca qAqBTI
YoT: 3NEY AR |er IHUT T FAT TAHT TG T 872
1. grIel

2. el &1 TR

3. fafaar

4, HIGAT

Correct Answer :-

15) et @at F g ao+
HEAS H FA gRAT,
foradt o oy #r Rl
qidy A € 3ol ST |
R FR W aa |



feer eRa s & w1 Fow,

QAT ] T W FH g3

a3 &1 AR fste e waw)
Awifra-dt werch aygur

3t it A ameh,

3ET |AS AT WA Y
fRfforar & eivamemeh

3t shelt demera o=y,

o, eRa «r & FiF @

e i wfar, i el

r 1 & get # Refaw

£ T Wi A @H
A@#Ae afeat ® et
BifFar, Bare @i @

freelt & $or v A el

@ @1 & Fal W Foey,
EERLEGRIR TR b

3% 33 gadi @ gal WI

T a1 gz Fr qgER AT qF I q T FT 3ca] qAqBCI
w9 qIo A BT wwwd § @ B e F o @ @2
1. o oI I

2.3 q PI$

3.9 foRdlt & =iy @ Sirer foeT R &
4. 9T # FITSOT T

Correct Answer :-

o T P F T BT A e e ar

16) fH IuTe F1 3AHTA P IuHIFT ot ToR H HrfieR 99 wrar 81 afe Iuiaar 8 81 af fedt of
HI BT KT T8 SR 8T dP SUHITT & UfYPR HT Hara § a SuHiaar o1 fRAfT gy & &
RN | S TUIH & R 3 3 gHTIGR $T SSIERUT & UHd § ol B qoi-T dierdT § a1 I§ HH ol 30
A% W FS T1¢ ! 81 TSR FUBTE a9 918 v 91e # Marae s dgg a1 981 94914 8| $ aui ugd
fremadt wral 9 & e arell graft A it SR smuwt a1 gl afe smue wt fadt gaTeR @ Rewa



X 3} fgured $1 g1t df Jaat A SMTUD! IAST gAIER o1 Fa1 UST 11 A 3mua St ¢ & o o
BN A ST et 1 b o1 A ) aret @M 1R Y sarerar i afean gt €1 gt oo & 88 & e
aren @ oft afear eferdt &1 ghar 81 YR # frarae, Sraeer, SHRERt, $1 a9, fe # R IRWRT
B 21 1960 & GRIP A HRd H SUHITT 3figia Y% §U A1 1970 & /P dF IUNTT 3figia- ad fewd
?@ﬁaﬁwzﬁmnﬁwﬁ@ﬁﬁaml AP 510 & Tul § IUUIFT WMo+l BT T=T H Al & IBT 3T

|

fasharait iR Ja1 ugrarsi & @ & ga-it e sAgid ft i Iuviaansit & ura St smars 3e™ & Ryar
3R BT IAT TS T YTI FS qUI P @9 FY $ FI¢ PR B 39P| W a1 F ford T1fera g4 ust ik
a®! URUITd & ¥U H 1986 H HogHR WICa=M Tae (HIWRT) $I aF fHar 111 te IuHiadr &I fHdl Iae &
IR H FE TSGR U BT TSR g1 31 3d VF ST @ o fhdl IUTg & 9% WR 3ragdi 3N Y& & IR o
SR} &1 fard a91d €1 T GE1 | SuMiadr $i [t off Iaure f @dien & i Sfa fAvfg a9 &
Heg faredt 31 fpeh oft Saure & Ao R siftraraw gevt ge foran o+t sifyard gtar 81 afe 91 garieR
THIRW | 34fRP Irel Hear & a9 STHTT TP RIPrad H Toar 21 e Iyl i fafia fawea 7
T BT TYPR a1 31 B3 ot fashar Faa ua &1 9is 9 981 B AHd1 81 S U UTGH Bl B3 fdHeq oA
g1 39 SfUPR B AT ¢ & e 9= Sl & 9ia ar] fear sirar 21

SR &8 7T TR B gHR A U T U= &7 Sak 9a1gt|
U: IUHETS & UTH F1 I3M & 3(ATar 3R IS -1 A8} 7T UT?
1. 37941 3131

2. 39T 33T

3.5 & dls A

4, AT 3T

Correct Answer :-

o AT AHTATST

17) ¥t Iaure &1 swaua Hd Iuviaar +ft IR ® urfigR a9 SiTar 31 afe St T g o) fosd oft
It o1 if&r T8 g1 T a IuITT & fUBR &1 JaTd § af Iuviar 3t fRufa g § w8
SRR | ST THSH & R 3T 38 gHTIGR $T SGIER0N & UHd § Sl B Joi alerdl ¢ a1 I§ HH ol -
% TR S a1 Hd! 3 | SATGIAR TR 394 a1 T 91 A fyerae $3d agg a1 90! 991d &1 $© 991 ugd
framadt Tl 99 & Ban arelt graft 9 3 far st arg gt afe smua aft il gaeR 3 Rremaa
HA Pt fgarpa $1 gRA A Iadl | SATUDT IHST GHATR g1 o1 UST ghMM| afe 3o Fff ¢ | 9w foan
BT A ST et 1 b 21 H fapq et M 1 Y sarerar i ufean gt €1 gt oo #1 88 & e
grar @1 ot gfear wiferdt 31 giar 81 YRa § firarae, SraaeRt, SHE, $9 a9, ofe 3t R IRt
TSI 1 1960 F TP | URA A IUHNTT i e §U A1 1970 & G-1h db IUUITT Aigia bad Sféwa
gcnaﬁsﬁ?uzszﬁﬂmﬁwﬁw&hawl AP g1 & guf § Iuiar WiTs-l Bt HEm A ao A IBTA ST

|

fasharait ok Ja1 ugrarsi & @ & ga-it fi® sAgid &t i Iuviaansii & ura St smars 8™ & Ryar
3R HIF IT 7Y T9T YTI FS a6l P &9 FY & I PR B 39P W a1 F ford T1fera g1 ust ik
@] URUId & U H 1986 H HogHR WieaR Tae (HIWRT) $I aF fHar 111 te Iuiar &1 fHdl S &
IR A L AFBRI U FT ARER FaT 1 3@ T ST ¢ ol fHel IdTe &b U W Sragal 3R gRem & IR o
AFSHRI 37 ifard g1 g1 T8 G @ Iuvidar i {6 oft e Y @dien & o e Aol a o
Teg fhradt 31 vt oft IauTe & U W Siftiean a1 geu foraan off aifvard gtar 81 af 15 gpeR
THIRW F 4fRIF T1el Fedr & a9 STHTT TS RIPrad H Toar 1 T vl i fafia faeea 7 9
T &1 PR BT 31 B3 ot fashar Faa uw 81 gis U A8 B TPl 81 SQ U7 UTEH B B3 fAdeq o
BN | 39 ARPBR Pt MUl ¢ F f/AT® 99 ST & A ang fHar S g1



W A T TegiRr B UgwR Y UD TC U= $T I«R Ja1sC|
wH: framadt w79 & S-SRt et A

1. TeldT

2. greH

3. FIATSIR

4, FART

Correct Answer :-

18) f¥ft Iaure =1 swAHTA HYP IuUiFr +ft IR | urfigR 9= Siar 31 afe Sy 7 g o) fossdy oft
It o1 ifEre T8 g | STl a IuiTaT & ISR &1 JaTd § af Iuviar 3t fRufa qoiag § w8
SRR | ST THSH & A 3T 38 gHTIGR $T SGIER0N & UHd § Sl B Joi alerdl ¢ a1 I§ HH ol -
P TR FYS a1 Fdl 3 | SATGIAR TR 394 a1 T 91 A fyerae $vd agg a1 90! 9491d &1 $© 991 ugd
framadt Tl 99 & Ban arel graft 9 3 far st arg gt afe smua it il geeR 3 Rremaa
FA Pt fgarpd $1 gRA A Igdl | SATUDT IHST GHATR g1 o1 UST ghMM| afe 3o Hff ¢ | 9o foan
BT A ST et 1 b 21 H fapq et M 1R Y sarerar A ufean gt €1 gt oo #1 88 & e
grar @1 ot gfear wiferdt &1 giar 81 YRa § firarae, SraaeRt, e, $9 a9, ofe 3t R Rt
TSI 21 1960 F TP | URA A IUHNTT i e §U A1 1970 F -1 db IUUITT JAigia bad Sféwa
gcnaﬁsﬁ?uzszﬁﬂmﬁwﬁw&hawl AP g1 & auf § Iuiaar WiTe-l Bt HEm A ao | IBTA ST

|

fasharaii ok Ja1 ugrars & @ & ga-it f¥w sAgid &t i Iuviaansii & ura St smars 8™ & Ryar
3R HIF IAT 7Y T9T 4TI FS I6] P &9 FY & I PR B 39P W a1 F ford T1fera g4 ust ik
3@ URUId & U H 1986 H HogHR WIeaR Tae (HIWRT) $I aF fHar 111 te Iuiar &1 fHdl S &
IR A & AFBR U FT ARER FaT 1 3@ T ST ¢ ol fel Iaute &b U W 3ragal 3k gRem & IR o
SAFSHRI 37 ifard g1 g1 T8t G @ Iuvidar i {6 oft e &+ @dien & o Sfva Aol e o
Teq fhradt 31 Y oft IauTe & U W Siftiean a1 gew foraan off aifvard giar 81 af 15 gpreR
THIRW F 4fRIF T16l Fear & a9 STHTT TP RIPrad H Toar 1 T vl i fafia faeea 7 9
T &1 fUPR BT 31 B3 oft fashar Faa us 81 gis U A8 B TPl 81 S/ U7 UTEH B B3 fAdeq o
BN 39 ARPGR FHt MUl ¢ F f/AT® 99 FTA! & A ang fHar S g1

SR 3 T TR B ugwR R IR ¢ R $T Sk gars|
wA: Big ol fashar w1 Saa Te & 9 6 R dHar?

1. ol

2. 315

3. 3T

4, HIAT

Correct Answer :-



19) fHd IuTe F1 AT FXP IuHIFT ot TR H HrfieR 9 wrar 81 afe Suiaar A8t 81 af fedt of
HIH BT KT T8 ERITI 8T dP SUHITT & UfYPR &1 Hara & a SuHiaar o1 fRAfT gy & &
SRAT | S TUIH & R 3 3 gHTFGR $T ISIERUT & UHd § ol HH qoi-T dierdT § a1 I§ HH ol 3=
A% W FS T1¢ Tl 81 TSR FUBSTE a9 918 v 91el # Marae s agg a1 961 94914 81 $© aui ugd
fremadt wral 9 & e arell raft A 5t Fur smuwt a1 ghhtl afe smue st fadt gaTeR @ Rewa
P P iFUTH Dt gRN A T W ATUDT BT gHAER Bt P UST I AfE 3o Haft o1 & Ao fovan
BRI Y 3TUe) uat gRT 6 29 ¥ fysa ara WM 1A &) Surerar O gfear gidt €1 gst 9o &t 8 & frem
aran @ oft gfear eferdt &1 ghar 81 wRa # frarae, Sraeer, SHER, $9 a9, fe @ R Rt
B 81 1960 & P A YR H SUHITT Sfigia- ¥ §U A1 1970 & % dF SUUTT figia »ad feha
%ﬁ@ﬁsﬁw@hﬁwﬁwﬁ@ﬂﬁaml AP 7T & aul A IUHITT Tre1 B T3 & doft | ISTE Sran

[

fasrarait iR JAa1 ugrars | @ & ga-it e srAgid <Rt i Suviaanst & o Sra-i smars o™ & Ryar
3R BT IAT TS TIT UTI FS qUI P @9 FUY P IIG APR B] 3TP! W a1 P ford T1ferd g1 usT iR
3U®! URUITd & U 1986 H HogHR UICa=M Uae (HIURT) $i aF fHar 111 Te IuHiaar &1 fHdl Sae &
IR H FE TSR U BT TSR BT 21 3d UVF ST @ of fhdl Idurg & 99 WR Sragal i JR&m & IR o
SHSRY AT ifard g9 €1 98t GuAr | SuHier & fasdt oft Saure #) wied ¥ ford Sfa fAvfg a9 o
Teg firadt 31 feeh oft Saure & 30 W sifiraraw gevt gea g oft sifyard giar 81 ol 91 garieRr
THIARY A RIF TSl HRaT 2 A STHTT ITD| RIGRIT FR D1 81 T IuHiaan &1 fafia fapeai & 9
T &1 TUPR BT 31 B3 ot fashar Faa ua 81 gis 9 98 B APHd1 81 S U UTGH Bl B3 fdHeq o
g1 39 SAfUPR F AT 38 F e a1 Sl & 9ia an] fear e 21

SR &4 Y M= B TgH? Y Y& T U $T IR 9415¢1

WI: TG BT ARBR 3R FIAT BT ARGR AN ITHTT & USRI B f FA & dgad an] fbar sirar 22
1. SUHHT EI&T0T

2. fopfdreter ot

3. AT <5

4. AT off

Correct Answer :-

. AR ¢85

X

20) fodt Icurg *1 3WHTA HIF U ot IR H URTiGR 94 oirar 81 afe Sudiaar ) g af fndt off
I BT Sifered 181 FHI | TGl a9 IUUITT & SAUBR FT Hard g ol Uy »1 fRufa gaeitg i st
SRt e TugH & R oY 3] gHTHER BT 3BV A P & ol B aoi diddl & a7 I8 ST 5 30
A% TR FPS a1 Bl 3 | SATGIaR HSTE 394 a1 F= 91 A fyamae $3d agg a1 99! 9914 &1 $© 9uf ugd
fremadt Tl 99 | an arelt el 9 3 fardt smuwt arg gt afe smuA waft {5l geeR 3 Rremaa
X 3} fgurea $1 g1t df Jaat A STUD! IAST gIER o1 Fa1 UST 11 A 3mua S ¢ & o o
BT & ST et 1 b o1 A fypq aret @M 1R Y surerar i afean gt 81 gt oo & 88 & e
grar @1 ot gfear wiferdt &1 glar 81 YRa § firarae, Sraae, SHE, 9 au, onfe 3 R Rt
B 21 1960 & GRIP A HRd H SUHITT 3figia ¥ §U A1 1970 & /P dF IUNTT 3figia- dad fewa
?@ﬁaﬁwzﬁmnﬁwﬁ@ﬁﬁaml AP 519 & qul § IUUIFT WMo+l BT T=T H Aot & IBT 3T

|

fasrarait iR Ja1 ugrarsi & @ & ga-it e sAgiY &t i Iuviaansit & ura St smars o™ & Ryar
3R BT IAT TS TIT UTI FS qUI P @9 FY $ I WWPR B 39P! W a1 F ford T1fera g4 ust ik
a®! URUITd & ¥U H 1986 H HogHR WICaRM Tae (HIWRT) $I aF fHar 111 te Iuiadr &I fHdl Iae &
IR H FE TSGR U BT TSR g1 31 3d UV ST @ o fhdl Iurg & 9% WR 3ragai 3Nk P& & IR o



BRI AT Sfard §91d 1 g GEA1 | Iuiadr &t [t off Iare # widen & ford Sfe fAofg am &
Teq fhradt 31 fxlY oft IuTe & U W Siftrean g1 geu oA i aifvard gtar 81 af 1§ gpreR
THIRH | 4P T1el Hear g af STHTT TP RIPrad % Toar 21 T Iuniar i fafia fawea 7 9
T F1 ARBR g1 71 DI 2t fashar Faa te & i I 78 H THa1 31 I U UGP Bt H3 APy o1
g1 39 SIS F AU ¢ & e 9= ST & 9iNd ar] fear sirar 21

W 3 T TgiRr B UgHR R OB ¢ R $T I« Jars¢|
U= HogHR W= Tae (HIURT) B $a ar] fbar
1.1986

2.1999

3.1993

4.1990

Correct Answer :-

» 1986

21) it Icurg &1 3TAUTA HRFB UM ot IR H URieR 99 Srar 81 afe Iudiaar ) g1 af fasdt off
It BT ifET T8 g1 | T a IuUIFT & ISR &1 JaTd § af Iuviar 3t fRAfa g § 8
STt 3ae! augH & R Y 3 gHTHER H1 ISIERU A AP ¢ ol B aoi diddl g a7 I8 ST 5l I+
% TR FYS I Hdl 3 | SATGIR [HSTE 394 a1 Fed 91 § fdrae $vd agg a1 90! 9491d ¢ | $© 991 ugd
framadt Tl 99 & Ban arelt gadt 9 3t fart smuwt arg gt afe smua aft il geeR 3 Rremaa
H B fgaTwd $t ghll A 9ea | ATUD! SHPT gHTER g1 Fa-1 UST gR1T1 FfE 3Mu Hff ¢ & 9w foman
BT At ST et 1 o 21 F fApA el T iR Y sareraR i ufean g €1 gt oo $1 88 & e
grar @1 ot gfear wiferdt 31 giar 81 YRa § firdarae, SraaeRt, S, 79 a9, fe R Rt
T8 21 1960 & SRIP A URd | SUHITT 3igia ¥ §U A1 1970 & /P dF IUNTT Sfigia- »ad feda
?ﬂ@ﬁaﬁwmf-—ﬁmﬁwﬁ@ﬁﬁawl AP g1 & gul § IuiaT WiTe-! Bt HE A aol A IBTA ST

|

fagrarait MR a1 ugrarsi & @ & ga-t e sRAgid <At i Suviiaansit & U Sra=i smars 8™ & Ryar
3R PIT I TS TG 4TI HS a0 & dq GHY & 916 IWPR B TP WR a4 & ford aifera g vst ok
TP IRUITA & U | 1986 H HoIHR MR Tae (HIURT) Y AN fHar a1 T Iuuia &f fhdl Iaurg &
IR A L AFBRI U FT ARER FaT 1 3@ T ST ¢ ol il ITe &b Uh W Sragal 3R gRam & IR d
SR 31 3ifFard s 81 T8 GEAT ¥ Ikt i fHA off Sae # @den & ford Sfa fAvfg a9 o
Tiee, et 31 fdt it Saure & 99 WR Sty gert Yo foraa oft sifvard ghar 81 afe 915 gorer
THIRW & HfRIP ITel Hear g df STHTT TP RIPTad H THar 81 TP Iyl i fafia faseai & 9
T &1 AfUPR ga1 81 F13 i fashar Faa T & Fis U 71 F= APd1 81 I U UTEH P! Hs fdbeq ¢
g1 39 fUeR F AUl 25 & e a9 HrEl & 9RA any fear srar 21

W 3 T iR B ygwR i IR ¢ R $T Sk garse|
T: Ife ST T 1 A HUt BT FAT T @2

1. faewor

2. 3Tedca

3. U

4. IHATHI



Correct Answer :-

22) it Icurg &1 FTAUTA HRPb UM ot IR H URTiGR 94 Srar 81 afe Iuviaar &) g1 af foasdt off
HI BT ST T8) BRI ST6T a9 IuUITT & SAfUBR FT Hard 3 o) Iuvien #1 Rufd qo-itg § w8
SRR | 3P TUIM & R 3 3] gHFGR $T ISTER0N A UHd § ol B qoi-1 dierdl § a1 I8 HH- ol 30
% TR S I B! 3 | TATGIAR (HSTE 994 a1 Fed 91 § fdae $3d a5 a1 I8! 9491d ¢ | $© 91 ugd
framadt ol 99 & A arelt gadt AW $t fart smuwt arg gt afe smua it {5l gaeR | Rremaa
H B fgwTead 3t ghfl A 9ga | ATUDT SHPT gHaER g1 Fa-1 UST gR1T1 FfE 3 Hff ¢ | 9w foman
BN 4t MUY uar gh N 6 31 B A ara @ iR &Y surerar A wfear @)t 81 agt 9o @1 1 A frem
grar @1 ot gfear siferdt &1 giar 81 YURA § fAdarae, SraaeRt, SHER, $9 a9, fe Bt QR IRt
T8 81 1960 & P A URA | SUHITT 3igia ¥ §U A1 1970 & /P dF SUUTT Sfigia »ad fehda
?@ﬁsﬁ?mhﬁmﬁwﬁ@ﬂﬁam AP 51 & Tuf A Iuviear Wre-l &) T=n § At | IsT mar

|

fagpanait 3R Va1 ugrarsit A a & ga- sifte sragi <Rt s Suritaansil & Uy srueit maTet 38T & fRyan
3R P IT TE1 TG YTI B qUl & dd HHY & 916 IWPR B TP WR a4 & ford aifra g ust 3k
TP URUITA & U | 1986 H HogHR WeaRM Uae (HIURT) Y AN fHar T Te IuuiaT &f fhdl Iarg &
IR H TE TSR U BT PR g1 31 3d U/ ST @ of fhdl Iaure & 99 WR Sragal i JRem & IR o
SR 31 3ifFard s §1 T8 GEAT ¥ Iuvidar i fHA off Sae # @den & o Sfa fAofg aa o
Hae fradt 81 f5l o Saure & 99 W Siftreaw evT 4o forgen oY arfrard ghar 1 afe 918 geer
THIRY | S 1ol B @ df SuUiTar IuH) Rerad & Jwar 81 e uHiadr & Al A 9
T o1 AfUPR gar 81 F13 1} fashar Faa v € gis U 7 F IPHa1 81 I/ 3UA UTeP P! H3 fdbeq ¢
BN 39 ISR F AT 35 F e a1 ) & @A ar] fear srar 21

SR A 7T T B UgHR A YD T U BT I« Faqrs|
W: fIshd1 &Y U= ATEHI &I FT B ¢ giI?

1.

2. faereT

3. 3cUTG

4. 75

Correct Answer :-

23) i ITe &1 sTHTd P IuHiaar ft aoiR # HrfieR a1 Siar 81 afe Sudiiear A8t 81 af feft of
I BT SifTed 181 FHI | TGl a9 IUUITT & SAUBR FT Hard 3§ o) Iuviaan »1 Rufa qo=itg § w8t
SRAT | S TUIH & R 3T 3 gHTIGR $T ISIERUT & UHd § ol HH Joi-T dierdT § a1 I§ HH ol =
AP TR S a1 FIdl 1 SATGTaR MHSTE 391 a1 F= 91 A fyamae $3d agg a1 90! 991d &1 $© 9uf ugd
fremadt ol 9a & A arel! St AW &t HARt st arg gt afe smua it [t geeR | Remaa
P P iFUTH Dt gRN A T | ATIDT ITBT gHATR o1 P UST TN afE 3mu= Ht o1 & Ao fovan
BRI &t MUt uat gR T f 39 H fawn gt @A WA &Y Sarerar W ufear gt 7| st 9w 3t i § frem
grar @1 ot gfear wiferdt &1 g1ar 81 YRa ® frdarae, Sraras, S, $9 auF, 3nfe R Rt
T8 81 1960 & P A URd H SUHITT igia- ¥ §U A1 1970 & P P SUUITT figia-l »ad fiehda



?@ﬁaﬁwzﬁmnﬁwﬁ@ﬁﬁaml AP BT F qul & SUHITT IS BT HE & dsil & IBTA 3T
|

fassarait iR Ja1 ugrarsi & @ & ga-it e g ft i Iuviaansit & ur St smars 8™ & Ryar
3R BT IAT TS T UTI FS IUI P @9 FY $ TG PR B 39P| W A1 F ford T1fera g4 ust iR
a®! URUITd & ¥U H 1986 H HogHR WICaRM Tae (HIWRT) $t aF fHar 111 te Iuiadr &I fHdl Iae &
IR H FE TSGR U BT TSR g1 31 3d VF ST @ o fhdl Idurg & 9% WR 3ragdi 3N Y& & IR o
SR} &1 fard a91d €1 T GET | SuMiadr $i [t off Iaure f @ien & i Sfa fAvfg a9 &
Heg faredt 31 fpeh oft Saure & Ao R siftraraw gevt ge g ot sifyard giar 81 ol #1E garier
THIRW | 4RI Irel Hear g af STHTT TS RIPrad H Toar 21 Th Iyl i fafia fawen 7
T &1 TYPR a1 31 B3 ot fashar Faa ua &1 9is 9 981 B APHd1 81 S AU UTGH Bl B3 fdHeq oA
g1 39 SfUPR B AT ¢ ¥ fAare a1 Sl & 9ia ar] fear sirar 21

SR &8 7T TR B UgHR A U T U= &7 S@k 9a1gt|
UL ARPGRI & ad ¥ YRR SuMiaa o1 fRufa &t g2

1. AT
2. eIt

3. AT

4. Udel

Correct Answer :-

24) it IaTe &1 3RA b IuHiFT W TR # UrfiqR & wmar 81 afe Suriaan &) g <t fadt of
It o1 if&re T8 g | STl a IuIFT & ISR &1 JaTd § af Iuviar 3t fRufa qoig § 8
SRR | ST THSH & R 3T 39 gHTIGR $T SGIER0N & UHd § Sl B Joi dierdl § a1 I8 HE ol g+
% TR FYS a1 Hd! 3 | SATGIR HSTE 394 a1 F=d 91 A fyerae $3d agg a1 90! 9491d &1 $© 991 ugd
framadt ol 99 & Ban arelt graft 9 3 far st arg gt afe smua aft il gaeR 3 Rremaa
FA FI fgarpa $1 gRA df Iad | ATUDT IHST GHATR g1 o1 UST ghMM| Afe 3o Hff ¢ | 9w foan
BN A ST et 1 b 21 H fapq et M 1R Y sarerar i ufean gt €1 gt oo #1 88 & e
grar @1 ot gfear wiferdt 31 giar 81 YRa § firdarae, SraaeRt, e, 79 a9, ofe 3t R IRt
TSI 21 1960 F TP | YR A IUHNTT g e §U A1 1970 & -1 qb IUUITT JAigia bad sféwa
gcnaﬁsﬁ?uzszﬁﬂmﬁwﬁw&hawl AP g1 & guf § Iuiar WiTs-l Bt HEm A ao A IBTA ST

|

fasharait ok Ja1 ugrarsi & @ & ga-it fi® sAgid &t i Iuviaansii & ura St smars 8™ & Ryan
3R HIF IT 7Y T9T YTI FS a6l P 69 FY & I PR B 39P W A1 F ford T1f¥ra g4 ust ik
@] URUId & U H 1986 H HogHR WIcaR Tae (HIWRT) $t aF fHar 1411 th Iuiar &1 fHdl S &
IR A L AFBRI U FT ARER FaT 1 3@ T ST ¢ ol fHel IdTe &b U W Sragal 3R gRem & IR o
AFSHRI 37 ifard g1 &1 T8 G @ Iuvidar i {6 oft e &+ @dien & o e Aol a o
Teg fhradt 31 vt oft IauTe & U W Siftiean a1 geu foraan off aifvard gtar 81 af 15 gpeR
THIARY | RIF TSt HaT 8 A SUHTT ITD| RIP1ad $R o1 81 T IuHiaan o1 fafia figpea &
T &1 PR BT 31 B3 ot fashar Faa uw 81 gis U A8 B TPl 81 SQ U7 UTEH B B3 fAdeq o
BN 39 ARPBR FHt MUl ¢ F f/AT® 99 ST & A ang fHar S g1

W &8 7T =i B gHR A YW T U= &7 Sk 9a1gu|
wz: fdlt e & U9 W @ e sifvrard giar 32



1. 3cUTG, Y Il

2. 3cUIG &l 19T

3. HIATT &1 I[OTam
4. 3TARIH GeIT Hed

Correct Answer :-

o HABIH e HeI

25) it Icurg &1 3WHTA HIF U ot IR H URieR 94 oirar 81 afe Sudiaar ) g af fondt off
I BT Sifered 181 FHI | TGl a9 IUUITT & SAUBR FT Hard § af Iuviaan »1 fRfa gaeitg i st
SRt e gugH & R oY 3] gHTHER BT 3BV A AP & ol B aoi diadl & a7 a8 ST 51 30
AP TR FPS a1 Bl 3 | SATGIaR TR 394 a1 F= 91 A fyamae $3d agg a1 90! 9914 &1 $© 9uf ugd
fremadt Tl 99 | an arelt graft 9 3 fard smuwt arg gt afe smuA et il geeR 3 Rremaa
X 3} fgured $1 g1 df Jaat A SMUD! IAST gAIER o1 Fa1 UST 11 A 3mea S ¢ & o o
BT & ST et 1 b o1 A A ol @M 1 Y surerar i afean gt €1 gt oo &1 88 & e
aren @ oft afear eiferdt &1 ghar 81 wRa # frarae, Sraeer, SHRERt, $9 a9, fe @ R IRWRT
B 21 1960 & GRIP A HRd H SUHITT 3figia- ¥ §U A1 1970 & /P dF IUNTT 3figia- pad fewda
?@ﬁaﬁwzﬁmnﬁwﬁ@ﬁﬁaml AP 519 & Tul § IUUIFT WMo+l BT T& H Al & IBT 3T

|

fasrarait iR Ja1 ugrarsi & @ & ga-it e g ft i Iuviaansit & ura S+t smars o™ & Ryar
3R BT IAT TS T UTI FS qUI P @9 FY $ FI¢ PR B 39P! W A1 F ford T1fera g4 ust ik
a®! URUITd & ¥U H 1986 H HogHR WIea=M Tae (HIWRT) $I AN fHar 111 te Iuiadr &I fHdl Iae &
IR H TE TSGR U BT TSR g1 31 3d VF ST @ of fhdl IUTg & 9% WR 3ragai 3Nk Y& & IR o
SR} &1 fard a91d €1 T GET | SuMiadr $i [t off Iaure & @dien & i Sfa fAvfg a9 &
Heg faredt 31 f6eh oft Saure & Ao R sifraraw gevt gea g o+t sifyard gtar 81 afe 91 garieRr
THIRH | 34 Irel Hear & af STHTT TP RIPrad H Toar 21 e Iunlar i fafia faeea 7 @
T &1 TUPR a1 31 B3 ot fashar Faa ua €1 9is 9 981 B AHd1 81 S AU UTEH Bl B3 fdHeq oA
g1 39 SfUPR F AT ¢ & e a1 Sl & 9ia ar] fear sirar 21

SR A T TegiRT B UgwR ) OB ¢ R FT I«R FarsC|
U: HRA | SUHIST 3figie fd g2re d = g A2

1. 1980

2. 1960

3.1950

4.1970

Correct Answer :-

26) frdl I F1 THTA P SUHTT Ht TR & UFfieR 991 SraT 81 afe Suviaar ) g1 o fp=dt +ff
HHHI BT KT 8] TN BT dob SUHITT &b HfUPR BT JaTd & df SUHTT ot RS ga-g & o
STt 3OS augH & R U 3 gHTHER H1 ISRV A AP ¢ ol B aoi diddl & a7 I8 ST 5l 3+



% TR S a1 Hdl 3 | TATGIAR [HSTE 394 a1 T 91 § feae $3d a5 a1 901 9491d ¢ | $© 91 ugd
framadt ol 99 & A arelt gadt AW 3t fart smuwt arg gt afe smua it fedt geeR I Rremaa
H B fgwTed 3t ghfl A 9ga | ATUDT SHPT gHaER g1 Fa-1 UST gR1T1 FfE 3 Hff ¢ | 9w foman
BN 4t 3MUH! gar gh T 3 31 ® e ara @ iR &Y surerar A ufear @)t 81 agt 9w @1 8 A frem
arar @1 ot gfear wiferdt &1 giar 81 YRA § fidarae, STaaeRt, SHKER, $9 a9, fe Bt QR IRt
T8 81 1960 & P A URA | SUHITT 3igia ¥ §U A1 1970 & /P dF SUUTT Sfigia »ad fehda
?@ﬁsﬁ?mhﬁmﬁwﬁ@ﬂﬁam AP g1 & gl F IS WiTe-! Bt TS A dol A IBTA ST

|

fagpanait 3R Va1 uerarsit A a & ga- sifte sragid <Rt s Suritaansii & Uy srueit 3maTet ST & fRyan
3R P IT TE1 T UTI B qUl & dd HHY & 916 IWPR B TP WR a4 & ford aifera g ust ok
TP URUITA & U | 1986 H HogHR WeaRM Uae (HIURT) B AN fHar a1 Te IuuiaT &f fHdl Iarg &
IR H TE TSGR U B ISR g1 31 3d ¥/ ST @ of fhdl Iaurg & 99 WR Sragal i JRem & IR o
SR 3T 3ifFard s §1 T8 GEAr ¥ Iuvidar i B off Sae # @den & o Sfa fAofg a9 o
Hag fradt 81 fl o Saure & 99 W Siftreaw evT 4o forgemn oY arfrard ghar 1 afe 918 gaer
THIRY | S 1ol B @ df SuUiTar IuH! Rerad # Jwar 81 e uHiadr & At A 9
T o1 AfUPR gar 81 F13 1} fashar Faa v € gis U 7 H IPa1 81 I/ 3AUA UTeH P! H3 fdbeq ¢
BN 39 SAfUPR F AT 35 F e a1 ) & 9ia ar] fear srar 21

SR A 7T T B UgHR A YD T U BT I« Faqrs|
U: 8T & U1 § SUUIFT WIS+ I A=A | doil A FIT 74T 32
1. fRrae

2. FGT

3. st

4. 5GIe

Correct Answer :-

27) i Iare &1 sTHTd P SuHiaar ft aoiR # HrfierR a9 Siar 81 afe Susiiear A8t 81 af fedt of
HIH P KT T8 SR 8T dP SUHITT & UfYPR HT Hara § o SuHiaar o1 fRAfT gy & &
RN | S TUIH & R 3 3 gHFGR $T SSIERUT & UHd § ol HH qoi-T dierdT § a1 I§ HH ol 3
A% W FS a1 Tl 81 TSR TS a9 a1 v uret # farae $vd dgg a1 961 94914 8| $ aul ugd
fremadt wral 9 & e arell graft A 9t SR smuwt a1 ghftl afe smue st fadt gaTeR @ Rewa
P P iFUTHa Dt gRN O T W ATUDT ITBT gHAER Bt P UST NI Al 3o Haft o1 & o fovan
BRI Y 3TUe) uat gRT 6 29 ¥ fyea ara WM 1A &Y Surerar A gfear gidt €1 gst 9o &t 8 & frem
aran @ oft afear e1ferdt &1 ghar 81 wRa # frarae, Sraeer, SHE, $9 a9, fe @ R Wt
T8 81 1960 & P A YR B SUHITT Sfigia- ¥ §U A1 1970 & P dF SUUITT figia- »ad fdha
%ﬁ@ﬁsﬁw@hﬁwﬁwﬁ@ﬂﬁaml AP 3T & aul A IuHITT Tre1 B T & doft | ISTe Sran

[

fasrarait iR JAa1 ugrarsi | @ & ga-it R srAgid <&t i Suviaanst & o Sra-it smars o™ & Ryar
3R P I TS T UTI B auf P TS FUY & 916 WHR B TP W a1 $ ford T1fera g1 vt 8k
3O®! URUITd & U 1986 H HogHR UICa=M Tae (HIWRT) $i AN fHar 111 td IuHiaar &1 fHdl Iae &
IR H TE TSGR U BT TSR BT 21 3d UF ST @ of fhdl Idurg & 99 WR Sragal o JR&m & IR o
SHSRY AT ifHard 91 €1 98 GEAr | SuHier & fasdt oft Iaure #) wied F ford Sfa fAvfg a9 o
Teq firadt 81 felt oft Saure & % R siftrraw gevT e foran ot sifard glar 81 afe #1E goer
THIRY T 3 aref Hear 8 A ST TP RIFTad R IHhdT 8 | Th IuHa &t fafia e A



T BT TUPR iaT 31 B3 ot fashar aa ua €1 gis 9 98 B THdT 81 S U UTEH Bl B3 fdHeq o
g1 39 SfUPR F AT 38 F fEare a1 Sl & 9ia an] fear e 21

SR A T TR B yed Y YD Y U= 1 IR Iarsu|
U GPMER A IUDT RIGTIT A W MMUD! SHDT T JAT UST G2

1. g STt

2. GEATER
3. °dl arsd
4. oY arar

Correct Answer :-

28) fadl Icurg &1 3WAHTA HIFb UM ot IR H URieR 94 wirar 81 af Sudiaar ) g af fndt off
I BT ST 181 TR TET a9 IUUITT & SHTUBR FT HaTd g af Ui »1 fRufa gueitg i w8t
SIRAT | ST THSH & R 3T 39 gHTIGR $T 3TN & UHd § ol HH Joi dierdl § a1 I§ HH ol 0+
AP TR FS a1 Fdl 3 | SATGIAR TR 394 a1d F= 91 A fyarae $3d agg a1 90! 991d &1 $© 9uf ugd
framadt Tl 99 | an arelt graft 9 3 far smuwt arg gt afe smuA it il geeR 3 Rremaa
HXA B fgarwd $1 gRMt ) 950 F SITUD! IUDT gATER 1 A1 UST §1T1 AfG SMu= Bt ¢ | qo fosan
BT A ST et 1 b 21 A e aral @M 1R Y sarerar i afean gt €1 gt oo # 88 & e
arar @1 Y gfear siferdt &1 g1ar 81 YR # frarge, TR, STHRARY, S8 auF, S B R wRT
T8 21 1960 & GRIP A URd H IUHITT 3igia ¥ §U A1 1970 & /P dF IUNTT 3figia- pad fewa
?@ﬁeﬁ'\fmwﬁwtﬂ@ﬂﬁaml AP 519 & qul § IUUIFT WMo+l BT T= Al T IBT 3T

|

fasharait ok Ja1 ugrarsi & @ & ga-it e g &t i Iuviaansit & ur S+t smars 8™ & Ryan
3R P I TS T 4TI FF I F A WU & 916 IWPR B TP WR a4 F o aifera g vet ok
3@ URUIfd & U H 1986 H HogHR WieaRM Tae (HIWRT) $I aF fHar 111 th Iuiar & fHdl S &
IR A & AFBR U FT ARER FaT 1 3@ T ST ¢ ol fredl Idute & U W Sragal 3k gRem & IR o
BRI AT e §91d § 1 e a1 | Iuiadr i [t off Iare # wden & ford Sfe Aol am &
Teq fhradt 31 Y oft IauTe & U9 W Siftrean g1 geu foraan it sifvard gtar 81 af 1§ gpeR
THIRH | 34fRIP T1el Hear & a9 STHTT TS RIPrad 3 Toar 21 TP vl i fafia fawea 7 9
T F1 ARBR g1 71 BI3 2t fadhar Faa te & vis I 78 H THd1 31 I U UGP Bt HS APy o
g1 39 SIS B AU ¢ & fAare 9= ST & 9iNd ar] fBar sirar 21

SR & T TegiRr B ugHR R UD ¢ R $T I«R Farsu|

T: ¢ A fapA areft @M-diA areft WrerR el 31 qorawr w0 gt 82
1. gfean

2. gfean

3. 5CPE

4, AT

Correct Answer :-



29) Tt IauTe ®1 AT B IuHiFT W TR # UrfiqR & wrar 81 afe Suriaar &) g <t fassdt of
It o1 ifEre T8 g1 Tl a IuITT & ISR &1 JaTd § af Iuviar 3t fRufa qaig § w8
SRR | ST THEH & R 3T 39 gHTIGR $T 3GIER0N & UHd § Sl B Joi aierdl ¢ a1 I§ HE ol g+
% TR FYS a1 Fdl 3 | SATGIAR HSTE 394 a1 T 91 A fyeae $vd agg a1 90! 9491d &1 $© 991 ugd
framadt Tl 99 | an arelt gaft 9 3 far st arg gt afe smua it il geeR 3 Rremaa
HA FI fgarpa $1 gRA A Igd | SATUDT IHST GHATR g1 o1 UST ghMT| afe 3o Fff ¢ | 9o foan
BT A ST et 1 b 21 H fapq ot M 1R Y sarerar i ufean gt €1 gt oo # 88 & e
grar @1 ot gfear wiferdt &1 giar 81 YRa § firarae, SraaeRt, e, $9 a9, ofe R IRt
TSI 21 1960 F TP | YR W IUHNTT i e §U A1 1970 & -1 qb IUUITT Aigia bad Sféwa
gcnaﬁsﬁ?uzszﬁﬂmﬁwﬁw&hawl AP g1 & guf F Iuiaar WiTe-l Bt HEm A aol A IBTA ST

|

fasharait ok Ja1 ugrarsi & @ & ga-it e sRAgid &t i Iuviaansii & ura St smars 8™ & Ryar
3R HIF IAT 7Y T9T YTI FS a6 P &9 FY & I PR B 39P W A1 F ford T1fera g4 ust ik
@] URUId & U H 1986 H HogHR WIeaR Tae (HIWRT) FI aF fHar 1411 te Iuiar &1 fHdl Sae &
IR A & AFBRI U FT ARER FaT 1 3@ T ST ¢ ol fel IdTe &b U W Sragal 3k gRem & IR o
AFSHRI 37 ifard g1 g1 T8t G | Iuviaar i {6 oft e Y @dien & o e Aol a o
Teg fhradt 31 Y oft IauTe & U W Siftiean a1 gew foraan Y aifvard giar 81 af 15 gpreR
THIRW & 4P I1el Hear & a9 STHTT TP RIPrad H Toar 1 T vl i fafia faeea 7 9
T &1 PR BT 31 B3 ot fashar Faa us 81 g U A8 B TPHdT 81 S/ U7 UTEH B B3 fddeq o
BN 39 ARPGR I MUl ¢ F f/AT® 99 S!S SA an] fHar S g1

SR 3 T iR B ugwR R IR ¢ R $T Sk garse|

T: flt IuTe FT ST TP IUHITAT IR § T 9 STl 82
1. AR

2. dATHCR

3. @i

4. gl

Correct Answer :-

30) Tt IuTe P T HIP IuHiaar Wt IoR F URfigR 9 Sirar {1 afe Susiaar 781 g af fopd oft
I BT ST T8) BRI W6l a9 IuUITT & SAfUBR FT Hard 3 o) Iuviear #1 Rufd qoitg § w8
SRR | 3P TUIM & R 3 3] gHFGR $T ISTER0T A UHd § ol B qoi-1 dierdl § a1 I8 S ol 30
% TR FYS a1 Hd! 3 | TG (HSTE 394 a1 Fed 91 § fdrae $3d a5 a1 I8! 9491d ¢ | $© 91 ugd
fremadt Tl 99 & A arelt gradt AW 3t fart smuwt arg gt afe smua it fhelt geeR I Rremaa
H B fgwTed 3t ghfl A 9ga | ATUDT SHPT gHaER g1 Fa-1 UST gR1M1 IfE 3 Hff ¢ | 9w fovan
BN 4t 3MU! gat gh T 6 21§ A ara @ dA &Y sarerar A ufear @)t 81 agt 9o @1 1 A frem
grar @1 ot gfear siferdt &1 giar 81 URA § fidarae, STaaeRt, SHER, $9 a9, fe Bt R IRt
TG 81 1960 & P A URd | SUHITT 3igia- ¥ §U A1 1970 & /P dF SUUTT Sfigia »ad feha
?@ﬁsﬁ?mhﬁmﬁwﬁ@ﬂﬁam AP 51 & Tuf A Iuviar Wre-l &) T=n § At | IsTe 3T

|



fasharait iR Ja1 ugrarsi & @ & ga-it e sRAgid ft i Iuviaansit & ura S+t smars 8™ & Ryan
3R DI I TS T 4TI FS T F A WU & 9I¢ IWPR B TP WR a4 F o anfera g vet ok
3@ URUIfd & U H 1986 H HogHR WIeaRM Tae (HIWRT) $I aF fFHar 111 te Iuiar & fHdl S &
IR A T AFBR U FT ARER FaT 1 3@ T ST ¢ ol fredl Iaute & U W Sragal 3 gRem & ar o
BRI AT Sfard §91d § 1 e a1 | I i [t off I # wdien & ford Sfe Aol am &
Teq fhradt 31 st oft IauTe & U W Siftrean a1 geu oA i aifvrard gtar 81 af 1§ gpreR
THIRH | 34fRIP I1el Hear & df STHTT TP RIPbrad % Toar 81 T vl i fafia faweat 7 9
T F1 ARBR g1 71 DI 2t fashar Faa te & i I 78 H THa1 31 I U UGP Bt H3 APy o1
g1 39 ISR B AT ¢ & e 9= ST & 9iNd ar] fear sirar 21

W 3 T TgiRr B UgHR R UB ¢ R $T I«R Farsu|

= f5 e | SuHiwn #) {50 off 3w 1 @i & R s fofa a7 & #eg faad 82
1. g Ufehar

2. 78 e

3. GE I

4. G& a1

Correct Answer :-

.q:@rq:@?-rr

Topic:- General Urdu(L2GU)
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Correct Answer :-

paals
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Correct Answer :-

. .:.dfbﬁ
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’ ﬁi&lfé—jﬁwf(u}lﬂd)’yﬂIJ&L;JZJWM
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Correct Answer :-
. LFA?:‘UM"
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Correct Answer :-

1.
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Correct Answer :-

d; Vv

EA ol »
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4,
Correct Answer :-

P
A .-.-flw‘”
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Correct Answer :-
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Correct Answer :-

18) %,;I;/_agl{’c/%



Correct Answer :-

] 2l

19) u}i;lrg,/ﬁ@;(fﬁ._jﬂﬁ;ﬂﬂ
. JWJJG
L;P"."JW
2
5 {_,FIJW
. [’;U;W

Correct Answer :-
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Correct Answer :-

Ay

21) ?%{J/f’iija;}
U S35 s YT
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Correct Answer :-
i
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Correct Answer :-

Ry

23) .
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Correct Answer :-

Kk



Correct Answer :-
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Correct Answer :-

26) %.KEJL,(JJ/’(W}(EJL’;E‘
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Correct Answer :-

. A
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Correct Answer :-

. LJJL‘

28)
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Correct Answer :-
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Correct Answer :-

AT

Correct Answer :-

l};;/:-'._it_;}(&;.{,?

Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an ./

3c(a+ b) TH ol
1. algebraic equation / SSTOIRNT FHHIOT

2. monomial polynomial / ThUSH dgUe
3. binomial polynomial / fguéra ague



4. trinomial polynomial / RUET sgue

Correct Answer :-
 binomial polynomial / fguc aguc

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
gfe x-3fef I TP fig P t daad gl 8 THIS @

3R 9 BT UG x-3& Pt BTG MR fRYa g, AfdgpAs:

1. Ordinate =8 / ®Ife = 8

2. Abscissa=8 or -8 / o = 8 3Ydl -8

3. Abscissa=8 / 331 =8

4. Abscissa=-8 / a1 = -8

Correct Answer :-

e Ordinate =8 / &ife

n
oo

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is:
/

%maﬁawmemnnoaﬁﬁammmmﬁw 56 941 g, A SAD!

1.42cm / 42 @A
2.24cm / 24 QT
3.40cm / 40 [

4,21 cm / 21 QT

Correct Answer :-
e 42cm/ 42 WA

4) What is predecessor of natural number 1? /
WIpd =T 1 B Tdad] =T 7 872
1.2

2.1



3. no predecessor / PIs Ydadl HEAT el &

4.0

Correct Answer :-

« no predecessor / P It TEAT TGl &

5) Which one of the following is not an objective of scholastic assessment? /
fFrafafa & @ $19-a1 fagH & geaie &1 e 3era 781 82

1. Knowledge / =TT

2. Analysis / fr&wor

3. Comprehension / HST

4. Attitude / AT

Correct Answer :-

o Attitude / #AAGTA

6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TS JH TAYS &1 URUTT 45 A 31 39 TH Yol B dq1s fha-l 82

1. 9cm / 9 G

2. 9.5cm / 9.5 AT

3. 7.5¢cm / 7.5 @A

4, 15cm / 15 Q&

Correct Answer :-

« 9cm / 9 WA
7) p?+ql-z°
If p=—2 gq=3, and z= 2, then find the value of P - /
- +Pq-pqz

- pz+qq—35 :
aﬁpz_z,qzj,ﬂalzz %’,Fn' mﬁma d Sl
z



) 2
1

; 5

4.19

Correct Answer :-

2 + ] T ) ==
x*—5x+6 x*—7x+12 x“—6x+18

1. (x-3)
2. (x-2)
3.0

4. (x-4)

Correct Answer :-

9
) The diagonals of a rectangle PQES intersect at the point O_If

£POQ = 130° then ~ORS =7 |
A PQRS & ol teeay &1 fdg O w ufa=sfed wia
%1 Ife 2POQ = 130°, @9 £ORS =?

5 _—1K
0 _—
#_'_,_.,-'-""' 1
P Q
30e
1.
5
2.
130°



500
4,

Correct Answer :-

25°
10) The area of sector of a circle of radius 10 cm and of angle 60° is Al
10 ¥t BT Fem 60° FHIUT AT TF dod & [Fed@s FH AFh el
%sq cm [ EEHIF rSES]
1.
% sq cm / EEI?IF o
2.
167 167
— saem / —Eﬁﬁ' T
3.

4. 157 sqcm / 157 g7 qA

Correct Answer :-

157 157
gisqcmfgia?’réﬁr

11)
Given two right angled triangles PQR and DEF _such that ~Q=30,
£2D=30 and QP=DE write the correspondence if triangles are congruent. /
& AT Bje PQR IR DEFSH waR v av §f% £Q =230, .D =30 3k QP=DE
1 afg Perer walorm#A § a1 derdar A &
, ARQP=AFED
, AQPRADFE
APQRZADEF

3.



, APQREAEDF

Correct Answer :-

APQRZAEDF

12)
In APQR, £P = 90° and X is the mid- point of PR. The value of QR? — QX? isequalto .
| APQR#, £P=90° T PR & Aeafdg X §1 QR2 —QX* ®FT AW = ¢l

1. 2PX2

2. 3PX2

3. 413'.31.’2

4 PX?

Correct Answer :-

-

. 3PX?

13)
APQR is an isosceles triangle with PQ=PF._ Altitudes RF and QG are drawn to the sides P(Q and

PR from vertices R and Q If one altitude RF is 3 cm and the base QR is 5cm then GR=____ /
APQR U THGaarg HRyer 8. o PQ=PR {1 effeial RF3IR QG &I off Rwa Q3
=T PQ 3R PR A& €= Fmar g1 IE v ofded RF3 @4 § 31T 3mam QRS T
g.arGR=__ |

1.4cm / 4 @

2.3cm / 3 G

3.5cm / 5 @A

4. 6cm / 6 QA

Correct Answer :-

e 4cm / 4 JAT



AD is a median of AABC and M is the midpoint of AD_Ifthe area of ABMD is 2.5 cm?, then the
area of AABCis . [

AABC &1 T AIMETST AD§ dur AD&T #edfdg Mel afg ABMD &7 &ai=he 2.5
A 8.9 AABC &7 &5%el 2l

1.20 cm? / 20 Qa2
2.10 cm? / 10 Qa2
3.5cm? / 5 Qa2

4.25cm? / 25 Qa2

Correct Answer :-

e 10 cm? / 10 QA2

15)

. .1 . . . - .
Anu’s age is E‘d- of her mother’s age If Anu’s age is 12 then mother’s ageis [/

3] T Y 3T AT I 37 & 1/3 g1 I 3] T 3y 12 a9 g, @ A =71 37 &

1. 36
2.24
3.35

4. 30

Correct Answer :-



The length of two trains T1 and T2 are 620 m and 480 m respectivelv. The length of the freight

train T3 is twice the sum of T1 & T2. Find the time required bv T3 to cover a post on the
distance

platform if it has a speed of 20 m/s. [ime =
speed

ared T1 ugd T2 &1 o5 FH 620 Hiex 3R 480 Hex g1 Arcamar T3 &1 a9
& T1 Ud T2 & 17 &1 SEe ¢ Il Saeht arfd 20 #HexAes g, df T3 garT &
TIEHIH W Ud 9Re FT 9K ad & (U 31aedd 8T Ad 17

1. 3 minute 10 seconds / 3 f@c 10 Ahs
2. 1 minute 50 seconds / 1 f&de 50 AHs
3. 2 minutes 10 seconds / 2 &de 10 @3

4. 2 minutes 40 seconds / 2 f&<e 40 dds

Correct Answer :-

1 minute 50 seconds / 1 f&ae 50 Abs

17) ] (s :
If 3x+:+2=3x: 1=x+33+1,thenfin.dthevalueuf'x:mdy.
gfg I B 2R R AN xvd y & A Ad A
s ol
: 5
1.
x=1 y=-5
)
2.
1 3
=
3.
4. x=2,y=3

Correct Answer :-

18)
If & and B are the zeroes of the polynomial x% — 5x + k,wherea— f = 1,thenk=__. /

af¢ aTdp 9gUE x® ~5x +k & YH &Gl a—f= 1&, dAk=__



2.2
3.3

4.6

Correct Answer :-

19)  Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure2? | Figure3 Figure 4
Fully-filled 5 8 6 4
squares

Half-filled T _ 2 3
squares

More than half 4 4 _ 8

filled squares

Less than half a 7 _ _

filled square

Find the figure with larger area. /

gt arferer & aftig omw offe X 9K 3763 RBv 9w &)

&had fhar I T | &SIl | Hdhs12 | HTEHs13 3T 4
HE]

oof &7 & | 5 8 6 4

aat

3T X aar 7 _ 2 5
ey F faw | 4 4 _ 8

sTY @t

WY F FH |9 7 _ -

aat

qaY &5 &1 &1 st Ad H
1. Figure 4 / &3l 4
2. Figure 2 / 3TehsT 2
3. Figure 1 / 31Teh3T 1

4. Figure 3 / 3TehaT 3

Correct Answer :-



« Figure 4 / 3731 4

2 _ 2 3 _ 2
20) Find the value of 'K, if ¥~ —2¥ T 1 jsafactorof 2¥ TX° —14x"+5k+6 ,

4 3 _ 2 2 _ .
-1
1.
2.2
3.1

4.3

Correct Answer :-

21) Find the missing number in the following pattern. /

fFrafafad ted & qu e gra #31

3.7

4.6

Correct Answer :-

22) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 & Ydadf 3R 9871 & WRdl & ¥ 3R FT J1d B

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-

o 88828



23) Find the GCD of 10, 20, and 30. /

10, 20 3fX 30 HT HgWH HAHTIP (GCD) T HY|
1. 10

2. 60

3.15

4. 30

Correct Answer :-

« 10

24) A scaled down teaching encounter is known as i
IaIviiE (s s Rgurdad _ FFUH AFT A@T B
1. Macro teaching / J&d fRi&1oT (FHshr fam)

2. Micro teaching / F&# fRAGTOT (ATShr EIfam)

3. Mastery teaching / GdToT fRre7or (arEdY Eif=iam)

4. Model teaching / FSel fALTOT (HATser Erfeian)

Correct Answer :-

¢ Micro teaching / J&H fQregor (ZFI'IB?H A=)

25) Postulates are assumptions specific to ./
wWiftg, fAred &t s@yrRume &

1. trigonometry / ReIoTfATA

2. algebra / fsTarfOTT

3. geometry / SITTAT

4. arithmetic / 37haTTOTT

Correct Answer :-

« geometry / SATTATA

26) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by ./



TAENNGH St AT SSRA’ & GRT 3R SAHIOG W fovar a1 s ATl
1. Al Kharkli / 37el @XeFell

2. Abil-Wefer / 3Trel-atht

3. Omar Khayyam / 38X @ZITH

4. Al-Khwarizmi / 3TeT-TaTRoH!

Correct Answer :-

o Al-Khwarizmi / 3ToT-EdTiea]

27) is the ability for a child of two years who is able to distinguish between more and
less things when he/she is fit to consume food. /

3 T & = P AT & S HISH BT SUHNT HA & forw fhe g w®
3t 3R w0 el & T 3iaw H3 § & R

1. Understanding of notations / Hehde T A

2. Recognition of numbers / q&gr &r gedldd
3. Recognition of notations / Hdhdd HT TgaTd

4. Innate number sense / Tgol FEAT Y

Correct Answer :-
e Innate number sense / "ol TEIT Ay

28) Rhombus is formed by joining the midpoints of the adjacent sides of a i
F I Yo & geafdged & A J guagys s9ar g1
1. Rectangle / 3{1ad

2. Parallelogram / AR Igyst

3. Rhombus / HHIFHST

4, Kite / gdar

Correct Answer :-
e Rectangle / 3Od
29) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7t" boy. /



7 ASH| BT AT Io 45 5T 21 398 A 6 &1 99 53 b1, 45 fbw, 40 foam, 37 fopam, 42 fum 9yt 50
fpun g1 79 TS &1 9o FTA B

1.42kg / 42 fpan
2.48 kg / 48 fomam
3.45kg / 45 fomamw

4,50kg / 50 fomarm

Correct Answer :-
o 48kg / 48 Tohan

30) The degree of the polynomial (2x —8) + (8-2x):

W(Zx—8}+ (8—2x) % T7d 2

1.1

31) The action verb for giving examples of different types of sets is ./
fafira yopR & Ty=al & IaTevvr o1 & e forarers fopan gl
1. classifying / TIffepoT

2. comparing / Jelell
3. differentiating / fA%eeT

4. listing / FTRIOT
Correct Answer :-

« classifying / affepol

32) The graph of the linear equation 2x +5y =10

E— |
s BT 2x + Sy = 10 FTWE TH @1 @ Wt g R x-31&1 A freran 31

is a line which meets the x-axis at the point



1. (0,2)
2.(1,2)
3. (5,0)

4. (2,5)

Correct Answer :-

33)
Which property is used to equate: /

THiigpd B3 & forg fa qurent 1 v fasan s &:

i.19 x 13 =190 + 57

ii. (-34-53)+23=-34+-30

1. i - Commutative property, ii - Associative property / i - spATAfAAT IO, ii - e IOT
2. i- Distributive property, ii - Closure property / i- TdcROcHD 0T, ii - AT T[OT

3. i- Commutative property, ii - Closure property / i- hATAIAHT T[0T, ii - HATGS I[OT

4. i - Distributive property, ii - Associative property /i - IEGRUIGAED U, i - S REIR qur
Correct Answer :-

 i- Distributive property, ii - Associative property /i - [EGRUIGAED 0T, i - R REIN T

34) If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / UfS P(3,-5) Td Q(-3,-6) 3 faml &, dl Q & P-ife P1 Y &:
1.0

2.3

35) Choose the solution for the equation: x+9 = 12. /

FHFEIOT: x+9 =12 & g FT IIT HL



1.3
2.4
3.2

4. 6

Correct Answer :-

36) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2
rounds of rope at the rate of Rs. 10 per metre. Find the cost of fencing. /

ABAT & 9 210 Hex o« 3iix 165 #Hex =l v 3FAAFER dreE 1 a8 10 39F yfg Aexr A R
T F 2 R G SHHA 918 FAT AIGAT &1 918 A T RIS AT B

1. Rs 15000 / 15000 ¥oxx
2.Rs 7500 7 7500 Tu

3. Rs 6930 / 6930 Tud

4. Rs 693000 / 693000 T

Correct Answer :-

« Rs 15000 / 15000 Tu

37) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
IR y-rer @ vF g A dEad g 4 5 §, @ Rig ¥

1.y coordinate 4 / y fA&era® 4

2. x coordinate -4 / x fadn® -4

3. x coordinate 4 / x A& 4

4, x coordinate 4 or -4 / x TASATH 4 3JYUAT -4

Correct Answer :-

« x coordinate 4 or -4 / x AP 4 HUAT -4

38) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /



I 9AF (-3,6),(0,3) va (3,0) v @+ FHAHIOT x TF y A g &, O wHIEor T
1. y=x-3

2. y=x+3

3. x+y=3

4, y+2x=0

Correct Answer :-

39) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /
39 e &1 aawa A w0 SmEr i P2,0), Q(5,0) TEREG,2) &

1. 25 units? / 25 HTS2

2. 6 units® / 6 IHTS2

3. 4 units® / 4 P2

4. 3 units? / 3 3B1E2

Correct Answer :-

e 3units? / 3 SHIS2

40) Which one of the following points does not lie on the line 2y = 5x-2? /
farafaf@a & & i Rg Yar 2y = 5x-2 W ya 7@t 82

1. (0-1)

2. (-4,-11)

3. (-2,6)

4. (2,4)

Correct Answer :-

41) Which one of the following is not a teaching style? /



farfaf@a & @ sla-i & Raror & 78
1. Scolding / Treq T

2. Demonstration / U&=

3. Inquiry / ST/9

4. Discovery / 3{edyuT

Correct Answer :-

« Scolding / ferea T

42) Which one of the following statements is false about polynomial? /
frfaf@a # & Fla-a1 Fua sgue § T F 30T {2

1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x)
and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / IERISERIVEIEIR]
F R, YT 9gUe p(x)aﬁWWg(x)@fﬁlﬁﬁlﬁmﬁlﬂT% I HITH q(x) Td Y r(x) 39 UPR ST &
fF p(x) = g(x) a(x) + r(x), STET r(x) T 91 > g(x) HT U1 T

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / €I 3 & HIY TH dgue H HADIH
3 YEIEF) o FHEA B

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / ©Id 2 & Y Th gguc A AP
2 YeA(HSA) & Fh E

4, If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). / If¢

U AT HT AME x-378T & & g3t W wredr §, @ o # 2 7 (Jq) O

Correct Answer :-

» According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient
q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / faureH
TR & SIUR, ST SgUS p(x)ﬁwmg(x)éﬁuﬁamw% dl U q(x) Td 2 r(x) 39
PR 1 ¢ fb p(x) = g(x) q(x) + r(x), CH r(x) T dId > g(x) H191d g

43) Abscissa is also known as the )
T ($TT) & T & 5t 1T AT B
1. X-axis / X - 3&7

2. Point / ﬁg

3. Ordinate / &Ife 3787

4. Y-axis /Y - 31&7

Correct Answer :-



e X-axis/X-3&

44) Visualizations and drawing conclusion is achieved through the study of )

FouaT N YaTweT s | & reds & AegH @ 9ed fRar aman #
1. Analytical Geometry / fa&woTcas Farfafa

2. Spatial geometry / ¥UTfdd FATfATA

3. Algebra / iSO

4, Arithmetic / 3RO

Correct Answer :-

« Spatial geometry / TJTAed FaTfATa

45) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle.
The area of circle is: / 5 TF A da1$ 44 FA §1 IR 50& & oR v& WT 15 Re 9t § O 98 99
I §1 g9 FT &G o

1. 14 cm?/ 14 32
2. 44 cm? / 44 B2
3. 154 cm? / 154 T2
4. 28 cm? /28 T2

Correct Answer :-

e 154 cm?/ 154 @2

46) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits
interchange their places. Then the unit digit of the number is: /

ST 3T AT & 3Pl w1 AT 581 A T&AT & ¥ 9 e AT §, @Y 3% I T gRafda T aa
g d o= FT IS 3T &

1.2
2.9
3.7

4.6

Correct Answer :-



47) If the perimeter and area of a circle are numerically equal, then the radius of the circleis___ ./
I oF g A N qU7 od TeAHF WA FTAT A @ A Bear 7

1. 3 units / 3 3HS

2. 1 unit / 1 &S

3. 4 units / 4 3HS

4,2 units / 2 PG

Correct Answer :-

e 2units / 2 3

48) “Let no one enter who is ignorant of mathematics” was stated by ./
“aftra ¥ 3T F$ it safFT vaer 7 F1” GART FET AT 4TI
1. Thales / I8

2. Pythagoras / UTSUTIIRE

3. Enchid / T2

4. Plato / Toler

Correct Answer :-

« Plato / Tl

49) The abscissa of the point of intersection of less than ogive and more than ogive is .

a9 AFT (ogive) F FA aur 99 faFot & 3w & wfaedes g #r o (abscissa) B
1. Mode / Tgelh

2. Mean / A1

3. Median / #TGeT

4. None of the above / 3WIHh H & Hlg el

Correct Answer :-

e Median / HTfeIeT



50) Find the odd one out. /

fawer T+
1. <
2. =
3.0
4. #

Correct Answer :-

51) Generalisation of Arithmetic is: /
FHIAOIT T ATHAFIOT &

1. Algebra / dSreTioTd

2. Probability / UTT&dT

3. Statistics / TITETHT

4. Calculus / Wﬂ

Correct Answer :-

+ Algebra / @iSTIriOId

52) Asingle linear equation in two variables has: /
&t o # vwd @F gHAE0r g §

1. Maximum two solutions / 3fA%dd & &a

2. An unique solution / Teh g o

3. Infinitely many solutions / 3d &cl

4, More than 2 but less than 4 solutions / & & 319 Jfha 4 T HH &

Correct Answer :-
« Infinitely many solutions / 37id &df

53) 'Let no one who is unacquainted with geometry enter here' is connected with i

g off safda Y sfAfy ¥ aRRT &, g8F W@ 7 |, T ¥ dafa B



1. The Sophist School / HIfthee Ehel

2. The Platonic School / Celelfale Fgel

3. The First Alexandrian School / Ugell aﬁa@fgm—-r Thol
4. The lonic School / 3T Fhel

Correct Answer :-

« The Platonic School / Telelfe Fehel

54) Which of the following is considered as undefined term? /

ffaf@a & ¥ 7Y 3aReRa 9 AT ST 2

1. Point / ﬁl@

2. Quadrilateral / ﬂgﬁi\_ﬂ
3. Circle / qd

4. Prime Number / 33T &A1

Correct Answer :-

55) The author of Lilavathi was: /

diamadt F dJ@s &

1. Brahmagupta / SI&TI[d

2. Aryabhatta / 3-TI'€&3TE.‘:€

3. Bhaskaracharya / $TEhI=ITY
4. Ramanujan / dATGsld

Correct Answer :-

« Bhaskaracharya / $TERIET

56) 3m6cm="7?/
3R e AH =2
1. 3600 cm / 3600 T&Y

2.360 cm / 360 @AY



3.306 cm / 306 @Y

4,.30.6cm / 30.6 §ar

Correct Answer :-

e 306 cm / 306 ¥

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins
Rs. 20., and finds that he has exactly what he had in the beginning .What was the amount he
originally had ? /

TS 3MeH! U=t «=RIfR &7 Uw-faeTs sR wiar 8, fB7 10 $U Sfiaar B, 39 a1¢ fora-n 8 ST ta-fags
BR WA €, 20 ¥ Sfiqdr 8, 3/ 3P UTH a7 g U-R1RT 8 fora sy o <t 39% ury ga «=af¥ farait
i

1.Rs.12/ 12 303

2. Rs.24 / 24 30

3. Rs.48 / 48 30

4, Rs.36 /36 T4

Correct Answer :-

o Rs.48/48 Tud

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and
the largest angle is. /

Tfe AYS & B0 BT U 2: 3: 4 B, d T B 3N JTA TS B0 & o BT 3R 719 B

60"
1.

Correct Answer :-
40°

59) If a regular hexagon is having side of 12 cm, then its area is: /

afe TP T YU BT Y1 12 W B, ) 50T &6 &



156v2
256v2
N 216v3
1293

Correct Answer :-
2163

60)

Which one of the following expressions is false? /

fafafed & O SI9-971 vie Tad 82
a)9999 <1000
b)1052<1025

€)958765>957865
1.Bothaand b/auTdbaHl
2. Onlyb / &aa b

3. Bothbandc / bTd ¢ gt

4, Onlya / &dd a

Correct Answer :-

« Bothaand b/atTdbgHl



